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QUESTION 1

Which two statements about BGP communities are true? (Choose two.) 

A. A community is not a transitive attribute. 

B. A prefix can only belong to one community. 

C. A BGP device can set, append, or modify the community of a route. 

D. A prefix can belong to more than one community. 

Correct Answer: CD 

 

 

QUESTION 2

What is the correct authentication processing order on EX Series switches when multiple Layer 2 authentication
methods are enabled? 

A. MAC RADIUS –andgt; 802.1X –andgt; captive portal 

B. 802.1X –andgt; MAC RADIUS –andgt; captive portal 

C. 802.1X –andgt; captive portal –andgt; MAC RADIUS 

D. captive portal –andgt; MAC RADIUS –andgt; 802.1X 

Correct Answer: B 

 

 

QUESTION 3

You are implementing 802.1X authentication in your Layer 2 network. Each user will have a computer and a phone and
you must ensure that both devices are authenticated individually. 

In this scenario, which supplicant mode should be used? 

A. captive-portal 

B. single 

C. multiple 

D. single-secure 

Correct Answer: B 
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QUESTION 4

Which protocol is a multicast routing protocol? 

A. OSPF 

B. BGP 

C. PIM 

D. IS-IS 

Correct Answer: C 

 

 

QUESTION 5

Click the Exhibit button. 
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A router is attempting to form an OSPF neighborship with another router. However, the OSPF neighborship fails to
establish completely. 

Referring to the exhibit, what is the problem? 
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A. There is an interface type mismatch. 

B. There is an OSPF area mismatch. 

C. There is an interface subnet mask mismatch. 

D. There is an interface MTU mismatch. 

Correct Answer: D 
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